
Erbijsommen tot 50.000

Oefening 1

1. 21.770 + 13.712 =   

2. 23.397 + 14.554 =   

3. 12.417 + 8.405 =   

4. 17.005 + 12.938 =   

5. 13.288 + 6.389 =   

6. 24.419 + 9.350 =   

7. 9.748 + 7.567 =   

8. 21.107 + 8.517 =   

9. 12.550 + 10.332 =   

10. 21.855 + 10.037 =   

Oefening 2

1. 18.382 + 15.432 =   

2. 23.915 + 19.641 =   

3. 16.800 + 5.677 =   

4. 12.422 + 6.896 =   

5. 17.920 + 9.613 =   

6. 23.728 + 22.752 =   

7. 13.075 + 9.765 =   

8. 24.134 + 9.971 =   

9. 20.259 + 10.733 =   

10. 17.651 + 13.132 =   

Oefening 3

1. 19.794 + 12.194 =   

2. 19.142 + 10.270 =   

3. 17.048 + 13.515 =   

4. 20.077 + 16.080 =   

5. 23.041 + 6.280 =   

6. 13.245 + 12.793 =   

7. 18.464 + 7.226 =   

8. 17.553 + 7.269 =   

9. 15.493 + 8.698 =   

10. 20.889 + 16.326 =   

Oefening 4

1. 19.067 + 13.818 =   

2. 15.736 + 10.618 =   

3. 18.274 + 10.493 =   

4. 21.666 + 8.899 =   

5. 19.840 + 18.875 =   

6. 14.132 + 9.489 =   

7. 20.686 + 20.619 =   

8. 15.344 + 10.260 =   

9. 8.767 + 6.830 =   

10. 10.110 + 7.795 =   
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Erbijsommen tot 50.000 | ANTWOORDEN

Oefening 1

1. 21.770 + 13.712 =  35.482

2. 23.397 + 14.554 =  37.951

3. 12.417 + 8.405 =  20.822

4. 17.005 + 12.938 =  29.943

5. 13.288 + 6.389 =  19.677

6. 24.419 + 9.350 =  33.769

7. 9.748 + 7.567 =  17.315

8. 21.107 + 8.517 =  29.624

9. 12.550 + 10.332 =  22.882

10. 21.855 + 10.037 =  31.892

Oefening 2

1. 18.382 + 15.432 =  33.814

2. 23.915 + 19.641 =  43.556

3. 16.800 + 5.677 =  22.477

4. 12.422 + 6.896 =  19.318

5. 17.920 + 9.613 =  27.533

6. 23.728 + 22.752 =  46.480

7. 13.075 + 9.765 =  22.840

8. 24.134 + 9.971 =  34.105

9. 20.259 + 10.733 =  30.992

10. 17.651 + 13.132 =  30.783

Oefening 3

1. 19.794 + 12.194 =  31.988

2. 19.142 + 10.270 =  29.412

3. 17.048 + 13.515 =  30.563

4. 20.077 + 16.080 =  36.157

5. 23.041 + 6.280 =  29.321

6. 13.245 + 12.793 =  26.038

7. 18.464 + 7.226 =  25.690

8. 17.553 + 7.269 =  24.822

9. 15.493 + 8.698 =  24.191

10. 20.889 + 16.326 =  37.215

Oefening 4

1. 19.067 + 13.818 =  32.885

2. 15.736 + 10.618 =  26.354

3. 18.274 + 10.493 =  28.767

4. 21.666 + 8.899 =  30.565

5. 19.840 + 18.875 =  38.715

6. 14.132 + 9.489 =  23.621

7. 20.686 + 20.619 =  41.305

8. 15.344 + 10.260 =  25.604

9. 8.767 + 6.830 =  15.597

10. 10.110 + 7.795 =  17.905
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